



# Determinant #

# adjoint :- Theorem :- i)  $[A \cdot \text{adj}(A) = \text{adj}(A) \cdot A = |A| \cdot I]$

prove!  $\det A = \begin{bmatrix} a_{11} & a_{12} & a_{13} \\ a_{21} & a_{22} & a_{23} \\ a_{31} & a_{32} & a_{33} \end{bmatrix} \rightarrow \text{adjoint} :- \text{adj}(A) = \begin{bmatrix} A_{11} & A_{12} & A_{13} \\ A_{21} & A_{22} & A_{23} \\ A_{31} & A_{32} & A_{33} \end{bmatrix}'$

$\rightarrow \text{adj}(A) = \begin{bmatrix} A_{11} & A_{21} & A_{31} \\ A_{12} & A_{22} & A_{32} \\ A_{13} & A_{23} & A_{33} \end{bmatrix}$

$A \cdot \text{adj}(A) = \begin{bmatrix} a_{11}A_{11} + a_{12}A_{21} + a_{13}A_{31} & a_{11}A_{12} + a_{12}A_{22} + a_{13}A_{32} & a_{11}A_{13} + a_{12}A_{23} + a_{13}A_{33} \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{bmatrix}$

$\begin{bmatrix} a_{11}A_{11} + a_{12}A_{21} + a_{13}A_{31} & a_{11}A_{12} + a_{12}A_{22} + a_{13}A_{32} & a_{11}A_{13} + a_{12}A_{23} + a_{13}A_{33} \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{bmatrix} = \begin{bmatrix} |A| & 0 & 0 \\ 0 & |A| & 0 \\ 0 & 0 & |A| \end{bmatrix}$

$A \cdot \text{adj}(A) = \begin{bmatrix} |A| & 0 & 0 \\ 0 & |A| & 0 \\ 0 & 0 & |A| \end{bmatrix} = |A| \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix} \Rightarrow |A| \cdot I$

$\Rightarrow [A \cdot \text{adj}(A) = |A| \cdot I]$